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1. {tex}V_{BOULE}=frac{4pi}{3}m^3{/tex}. 0,5 point

  

  

{tex}V_{C^{O}NE}=frac{pi}{3}m^3{/tex}. 0,5 point

  

  

{tex}V_{CYLINDRE}=pi m^3{/tex}. 0,5 point

  

  

2. {tex}V_{BOULE}=frac{4}{3}times pitimes R^3=4timesfrac{1}{3}times pitimes R^2times R{/tex}.

  

  

Puisque R= ? alors :
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 {tex}V_{BOULE}=4times frac{1}{3} times pitimes R^2times ? = 4times V_{C^{O}NE}{/tex} 1
point

  

  

{tex}V_{CYLINDRE}=pitimes R^2times h=frac{3}{3}timespi times R^2times h=3times frac{1}{3}t
imespitimes 
R^2times h = 3times
V_{C^{O}NE}{/tex} 1 point

  

  

3. Le volume de ce récipient est

  

{tex}V_{CYLINDRE}-V_{C^{O}NE}=V_{CYLINDRE}-frac{1}{3}V_{CYLINDRE}=frac{2}{3}V_{CYL
INDRE}{/tex} 1.5 point
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